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Model/Data

T T T T T T T T T T T T | T T T | T T T T T T | T T T
10— —
B ALICE (P .
\ pp Vs=8TeV, |y| <0.5 B
Y ® ppINEL |

WO 0 e PYTHIA 8 Monash 2013
Sl TR fg-.-i ------- PHOJET B
1077 Tt EPOS-LHC i
@i
e
- o=, —
L laess i_E_.__E_: ---------- _|
U —e

10_5 - _'_'_'_'_'_'_'_'_'_' EEEEEEEEEEEEw --: —
B R e 3 ]
I e B A——
107" —
25 e =
1 :__-.T- —=== : """"" -' == '-'-'-'-'-'-'-'-'-'-'-'-"'-'-'-'-'-'-'-'-'-':'-'-'-'-'-'-'-'-'-'-'-'-'-'-'=-'-'-'-'-'-'-;-'-'-;-'-;-;-'-;-;-;--—-i
T2 46 8 10 12 14 1



